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B) (WD LHBEMIERT HBED LA ZEDEHE(m) F) O LHREWIZERTIBEDLRZDDE(m) %i%wiﬁtfégfﬁi‘ﬂﬁ%%éf_ ﬁ@?ﬁﬁ P 7E #h KET™ =WE
(C) BB L5 A HM00kN/ M LT DR B OB BID 5 DB ABEKN/m) (G) HFEBA ML T DR i DHEFED 1 DB A EKN,/ ) EMBEEIHEEHRRLBEBHRIRHALR
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RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) 137.1 10 100.0 10 - - 13.0 26 137.1 10 99.2 10 - - 13.0 26
(2) 127.5 1.0 99.9 1.0 - - 14.2 2.8 127.5 1.0 99.2 1.0 - - 14.2 2.8
( 3) 1155 1.0 99.1 1.0 - - 121 2.4 1155 1.0 98.3 1.0 - - 12.1 24
( 4) - - 86.8 1.0 - - 11.5 2.3 - - 86.8 1.0 - - 115 2.3
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